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At 10mA output current, the TPS61240 switching frequency is approximately 200kHz.
Would 0-1mA output current = 20kHz switching freq.
Could we add less output capacitance to guarantee 0.01mA switching freq > 30kHz?
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[bookmark: _GoBack]At 0mA output, the TPS6125x switching frequency is approximately 1/50usec = 20kHz
Could we cut the output capacitance from 22uF to 10uF & guarantee >30kHz switching freq at 0mA output?
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Figure 7. Frequency vs Output Load Figure 8. Output Voltage Ripple — PFM Mode




image2.png
TPS61253, TPS61254, TPS61256
TPS61258, TPS61259

SLVSAGSC _SEPTEMBER 2011_REVISED AUGUST 2012

AC LOAD TRANSIENT RESPONSE
TekStop — sl

Tokstop _

Ip TEXAS
INSTRUMENTS

www.ti.com

START-UP

0 to 400mA Load

\Load Currént (ma/mv)

)l
C, = 224F 10V (1210) X5R, muRata

[7{Output Voltage (5.0v DC Off

V=36V,
Vo=5.0V,
1o=0mA

" /foutput Voltage

[{Inductor Current

(@ 200v

B mmJ

2.00V

200mA

s 250G5/s  Aux S
10.00% 5M points 169V

100ps 2.50G8/5 Aux S
70000005 SMpoints  1.64V

@ 200nv & @ 500 ‘
@ 200mA

Figure 33.

Figure 34.




